H & 0l & AHS B Ml A

20248 =0ila LESIH AIE A A

A AEA A
MM FOIBOI=EE J|Us 25
o2l SSHSAE SHZEoHd (Cre|: ®M2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
AEAIE A 1,817,834 2,102,456 N284,622
Fo@A=C|SA J|gEd 2= 1,248,164 1,348,344 100,180
S3HSAE SFIA 604,673 684,108 AT9,435
MEHSSE 2cl29 345,595 291,758 53,837
101 2124l 48,040 46,750 1,290
M IIRHZ2Z2XSE+ 48,040 46,750 1,290
OMETISZR FERR AP(HE B
E) 190,000 18 *4 3| x3 41,040
OMEBHSZH HEM MERY
140,000 *53] *10H 7,000
201 2| 273,055 225,408 47,647
01 AtR2telt] 50,1% 38,508 11,688
OMSA HIEPY 500, 0002453 2,500
OHA SIB2| U 44
2,000,000& 14 2,000
OHILIAZ 2elAt D] LU=z
30,000& = 1201 & 360
OSegZJ1E =0 & Hld gz
150,000 1291 = 1,800
Ostas 34228 ¢ Est&3XN 7Y
210,000& = 12042 2,520
ORI2R=EZE 13,0003 * 152+ 1201 = 2,340
OUEH=SZER R =S|
8,000& x200 x4H 6,400
OMSsAd UE S 88 7L
650,000& 85 5,200
OflolE F=D| 2=
28,0003 %1291 336
oHolE=2E s )| U=
340,000 1201 = 4,080
OXFH| dxt= 1,000,000 =14 1,000
ORIZHIAAE X5
540,0002 1200 & 6,480
O#AE UE =01 7
375,000 *40H 1,500
Oogdisd 2 ZH|60,000& *119 7,140
O&ED|etd 2Zel| 420,000+ 1200 & 5,040
OxgEd =2 Y FIIHAZ
125,000& = 12042 1,500
02 33=24H| 222,859 186,900 35,959
O&II3 12,000,000 1204 144,000
Ox=ER3 1,000,000 =124 & 12,000
O33Adddez 750,000 *43] 3,000
O22&aS)|s HIIBAHIFLEA IEF)
1,500,000 *12] 1,500
OAotEE oI5| 3| 100,000& *13] 100

_643_




2A:

AE A A

A ZOIHOI=RISX JIBEY PE
o2l SSHSAE SHZEoHd (Cre|: ®M2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OYREXE A2
1,500,000 *2CH 3,000
ogesiz R
150,000 *2CH* 1200 & 3,600
O Kot EA
1,500,000 *22| 3,000
OXZE KRAE=HI 3,000,000 14 3,000
OAl&g2tel sl 25,000,000& 14 25,000
OsgZIE AFHHEAEA
5,000,000& »x23| 10,000
OorgDIsE M =5 2
TNR*310&* 12013 2,939
OHES(38) FIIZA (4 5HED])
4,900,000 23] 9,800
OARA SHYs U Y 23
160,000& = 12042 1,920
206 =4I 11,500 12,500 21,000
01 M=l 11,500 12,500 21,000
OXMIIMZE & JIERsME 24
1,500,000 14 1,500
Oy Az RA(SSHED|, ARIIS)
1,000,000 =14 1,000
OZF4 Al 2 5247
1,000,000 *32| 3,000
O==ac| g7 1,500,000 42| 6,000
405 XHeHE S| 13,000 7,100 5,900
01 ML =ZFSHI 13,000 7,100 5,900
Oss&O A 2 13,000,000 *1CH 13,000
S3MSAE &S 90,000 147,000 A57,000
401 Al&HIZ20HY| 90,000 147,000 A57,000
01 AlEHI 90,000 147,000 A57,000
OTEEINE HIILdl HUIE=+
15,000,000 & 14! 15,000
OBIIH 48 220 =¥ 24
15,000,000 & * 14! 15,000
OTEZINE 25 L OF2 A HOIE &
4 45,000,000& 14! 45,000
OZ&I & o222 &4
15,000,000 * 14 15,000
SHEUZMEH SR 222 49,054 60,090 211,036
101 eI t| 12,000 12,000 0
M IItHZ2E2SEs 12,000 12,000 0
OHTAMBRISTY FTHRR| 22
12,000,000&«1 12,000
201 Ler2 | 33,954 31,660 2,294
01 At 2telt] 8,780 7,060 1,720

_644_




2A:

AE A A

I ZoIpol=2|EW JIBE 7
el SSHEAE 23 (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAlR4 HIS ¢ 500,000& *42] 2,000
OFAES & 284 7
175,0002 43 700
OAIR4 d=J| gz
30,000 *129HE 360
OMTBMEHRZA ADEN S|
160,000 12 1,920
OMsEAE 857 2,000,000 14 2,000
O&otE el 150,000 * 1204 1,800
02 s3=gHl 25,174 24,600 574
o&IIe3 1,083,300& 1200 & 13,000
ORd & QY 25
50,0003 * 12043 600
OdgHI(AREE) 42,0002+ 1224 & 504
Odslx H4 350,000 23] 700
OANERX & B 8,000,000& »1& 8,000
OMdD| SEH S5 7Y
7903 %3, 0000HK 2,370
206 MH=H| 1,600 9,600 28,000
01 M=4l 1,600 9,600 A8,000
Ox=Z2el Algl & gHl(s2) 2L
500,000 <22 1,000
ORs € e 5 7Y
600,000+ 1 600
405 AHaHE = 1,500 6.830 25,330
01 ML ESF SHI 1,500 6,830 A5,330
OHEFTMEHSDA 2| BURI| 2
1,500,000 %14 1,500
CEXMs2 2ele2g 74,716 128,030 A53,314
201 fer= 3| 71,216 61,700 9,516
01 At 2|l 8,316 5,100 3,216
OgE=a S| 160,000 * 1204 & 1,920
ORIFHIAIAE s 2
200,000 *120HE 2,400
OARa E=)| Slig
58,0003 12043 696
O&otE el 150,000 * 1204 & 1,800
OAgEB==2% FIIBME
125,000 * 1204 & 1,500
2 52434l 62,900 56,600 6,300
oNIIR3 3,300,000& 1200 & 39,600
Ox=ER= 100,000& * 12043 1,200
Odales 50,000 * 1204 600
OAEASIs FIIBAHELES HE=R)
1,500,000& %12 1,500

_645_




2A:

AE A A

A ZOIHOI=RISX JIBEY PE
el SSHEAE 23 (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAlg2te] KA 20,000,000+ 1 20,000
405 KHaHF S| 3,500 330 3,170
01 ML ESF SHI 3,500 330 3,170
OMSAIZ B2l2Y 216 01H 7
3,500,000 %14 3,500
SFRALENESH 2Acl=2g 45,308 47,230 N1,922
101 eI24d| 30,000 30,000 0
M ORNZZ2NSE S 30,000 30,000 0
OSSAMBISTY AR 22
190,000 x6 2 x5 +32] 17,100
Osoay & == 4| FY
90,0003 x62 x5 *23] 11,400
O FHI(E3HYS)URS
100,000& 15 1,500
201 2egr=3| 12,308 10,400 1,908
01 At22t2ltl 3,600 3,600 0
Oxad HAEZ & & 2
650,000& 42 2,600
OARIE RAl2tell 1,000,000& %1 1,000
02 S3=gHl 8,708 6,800 1,908
OIEUAIZE TV, M523
109,000 * 1204 & 1,308
OdJIg=s & =23
200,000 * 1204 & 2,400
OAlg&e| || 5,000,000& 1= 5,000
206 MH=H| 3,000 3,000
01 M=4l 3,000 3,000
OozxZ2el =9 7 750,000 22 1,500
O=xtd & EX =4 M=MFY
1,500,000& 1= 1,500
dEH=s32t=y 394,913 381,808 13,105
=0HSME 29 394,913 381,808 13,105
101 @124H| 24,507 24,468 39
MU ORINZENSES 24,507 24,468 39
OOFF0t=28] 2AF 212
78,8802 x 12 *1042] 8,204
ON=&Y ofY
100,000 x32 x4 H 3] 3,600
O =J 1&g Y
190,000 x32 x3H +32] 5,130
OF=gd 4 28 2URY
9,860+8A|2H+83|x 122 1 7,573
201 fer= 3| 249,266 280,400 A31,134
01 At 2|l 82,266 64,860 17,406
O8E2= HH 500,000 22 1,000

_646_




A AIZAIE A
I Zoipol=e|Sw JIBE 7
Chel: METIS 2SR (crel: g)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OAIR4! HIE ¢ 500,000& *63| 3,000
OFHAESE F¢ 500,000& 63| 3,000
OEoal & 3t&A HIS7Y
800,000 x63 4,800
O+2® gexd S|
8,000& x167 L *3H 4,008
O+E +TAMN 48
80,000& *43| 320
OSOIAHIAIAL B2| 242
250,000 * 1204 & 3,000
OdlEIlE o|l22 ZHUE =42
500,000&x 120 6,000
RIZ2 A== 10,000 25+ 1200 & 240
O8I gz 35,0002 5012002 2,100
OMECHA ZI|IEA)| Xz
35,0002 *3CH* 120 & 1,260
ORPIMSHE +HF YE2(Y, &)
60,0002 x4843| 29,040
O4gAd SR 22 89
200,000& 12011 & 2,400
O g2 249
220,000« 1204 & 2,640
OQED|tM 22| HE A
665,000« 1212 7,980
Oglale|Z2 02 X2 24
306,500& 1201 & 3,678
OJIAHA UHsSHH A2 89
400,000& 1200 4,800
OXlg dutetdy| Xl2e 59
250,000« 1221 & 3,000
02 S324H| 167,000 215,540 A\48,540
O&IIS 9,000,000 1271 & 108,000
O4tot=ER23 1,500,000 x12JH& 18,000
O®ED| & JIHEH |2l
17,000,000&« 1 17,000
Ogegs U AIHURE
200,000& 121 & 2,400
OH|aed 8722 100,000 %53 500
OXg sIEEZ X2 4,500,0002 4,500
OoMYIsE ¢ HDIZS Ott+7e
500,000& *63| 3,000
OMg A 230|7 FAZe
2,000,000& 2,000
OHA=E U, 28 3L 24
3,600,000& *13] 3,600
OZOINSHE Heiasa
400,000& *53] 2,000
OXE&H| K2 4,500,000 4,500

- 647 -




SA ANEAMHA
I ZoIpol=R|S JIBEY 75
Chol: MBS D2EE (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OASFUHE L SSH WA
1,500,000 1,500
206 M=l 25,200 28,000 /2,800
01 M=4l 25,200 28,000 A2,800
= 2 MIAL2E P2Y
1,000,000& *22] 2,000
O==&zte| 4E 7 5,600,000& 22 11,200
O+8d ANES F8
1,500,000 23] 3,000
O=gd +XclAlE i O F&
9,000,000 %14 9,000
401 Al HIZL R 0HbI 90,000 30,000 60,000
01 Al&HI 90,000 30,000 60,000
O ¢ ANERXES
30,000,000 *10H 2~ 30,000
OJIEHIZ Wil SA 60,000,000 1CH 60,000
405 AtatE = 5,940 18,940 13,000
01 ML ESFSHI 5,940 18,940 A13,000
OA e E=D] 7 120,000 *12CH 1,440
golal E2t0l7] +¢
100,000 * 15CH 1,500
OFH4 d&¥0 F¢ 1,000,000 «1CH 1,000
Outd g A4 40| 2
500,000 =4CH 2,000
cUM S 2 SHIHH 248,578 282,428 A\33,850
zQlgld 2el2g 228,578 222,428 6,150
101 21AH| 16,350 16,350 0
04 JIZtN2Z2XNSE+ 16,350 16,350 0
OelAt| 16,350
—0l=, AN &Y A2
200,0002 4.5 +x3E x32] 8,100
—H=&g 2Ry
100,000 #5. 52 x5 +33] 8,250
201 fer=3| 208,228 202,078 6,150
01 AtR2t2|H] 65,084 49,704 16,380
OUI2H=E 10,0002 «35%+12& 360
OAIR4 HIS7Y 2,000,000& 1= 2,000
OZ2g& HNES 7Y
1,000,000& %1 1,000
OME2 =Xl2el 4,000,000 1 4,000
O=2lal2 H+J| dER
56,0002 x 122 x2)H A 1,344
OZ2lgla RN S|
3,500,000& 1 3,500
Ostdd EElI# 7 2,000,000& %1 2,000

_648_




2A:

AE A A

M ZOIBOI=R | JHE 25
ol 2232 SFod (SH9 H2)
SA - B BRA(SH) - HRA - of v e HIDE2
O34 HIS Y 2,200,000& 1= 2,200
O3t&4 it 2Huwe & JelMdlA
50,0003 »24JH 2-#22] 2,400
Ogzlisg(d, =) 60,000 4902 29,400
Oagiotaae] 89 4,200,000 *1& 4,200
OR0IZHINAE B
5,800,000& 1= 5,800
Osd)| et 2| 89
1,600,000& 1= 1,600
O&DIta 2| 5,280,000& 14 5,280
2 35244l 143,144 152,374 29,230
OAIE SXIZl(JI],I1H,AF)
36.,000,000& 1= 36,000
o3 5,130,000& x 12& 61,560
Ogolr=ER= 900,000& * 128 10,800
O=2lajat & et SX TADIA 25
36m x5hr 102/ * 1271 2 «5002 10,800
Ogal & ord 22| Z 3|
100,000& %12 100
OU=E oM FIIFY SA(4,561EH01)
5,500,000& 22 11,000
OXlotMd =2 HAESH
1,000,000& *22 2,000
(OF=| DI N F=a=
2,000,000& %1 2,000
OZ0Is|@ Rl HL S BY
5,000,000& *12] 5,000
OREgs 2aR(FEA)
32,0002~ 12 384
Oztlgl2 gYrg 400,000 %52 2,000
ON&E MEXE |7 ¥ RAAI(MEE
Z 8) 1,500,000& 1= 1,500
206 M=l 4,000 4,000
01 M= HI 4,000 4,000
O&II A A28 72
2,000,000 1= 2,000
OMZE =0 o X2+ b2 72
2,000,000& %1 2,000
TR 2AIE EF 20,000 60,000 40,000
401 Al HIZ S OHYI 20,000 60,000 40,000
01 AlZ2H| 20,000 60,000 240,000
OZgzl2 W, ARAIE 2=
20,000,000 *1 20,000
MEME2ZRE 2= 538,586 754,112 A215,526
SjAAZA SHIHA 211,252 249,212 A37,960
S HSHE 2el2Y 211,252 249,212 A37,960

_649_




2A:

Hu: MHHERNE 7S
(= S P P = NI 2= D Pl (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 78,092 77,952 140
M ORINZZE2NSES 78,092 77,952 140
O2ASH, S2AMSHE, S} 242
Iy 78,8803 *30H A #1524 +22H 78,092
201 Zet=3h] 120,960 122,060 21,100
01 AtR2t2|HI 30,400 23,600 6,800
OARd 2828 7Y
3,000,000& 1= 3,000
OEl & FxES 7Y
5,000,000& »1& 5,000
OFAL A2l & =
5,000,000 1= 5,000
OudoE =+=J|,HI0, 38| digg
130,000 »12& 1,560
O2zH=HE g8 S|
2,500,000 1= 2,500
OMsAle 85+ 1,000,000 14 1,000
O834AES 8 1,000,0002 %14 1,000
OSAAHIAAY £a8
170,000« 12& 2,040
oxdJ|td e === 200,000+ 122 2,400
OXIIEHl HIIZA =25
500,000 * 1= 500
OALEEA (1) ZIIBAM(ESIIS
H23), FLEZH A23
3,000,000& 1= 3,000
OAgtdEd S|
1,000,000& 1= 1,000
0220 ST Y AALLE
200,000 x 122 2,400
02 S3=gHl 90,560 98,460 AT7,900
(OFSPIETE= 3,000,000& ~12& 36,000
Odote=ER= 500,000 * 122 6,000
OWLIE)| Fe 242
1,400,000 *23] 2,800
OZStMSHE & 2AHASE A= FA2
2l 15,000,000 * 1 15,000
O2tM=HE & AASE 231+ =4
2t 6,000,000& *1& 6,000
OZ23tHSEE M|
3,000,000 *23] 6,000
OX DI SENSEFL
2,000,000& 1= 2,000
OREYS AEE Xs 30,0002 * 122 360
O=SHSHE 218 & 2UlEL
6,000,000 *12] 6,000

_650_




2A:

AE A A
Y MEIRIERENE 7S
= NRSI P T o NI ) Pl (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SEEECNIEESITEIEPN
8,000,000 *13] 8,000
O3SAMELH =2 400,000 & *63! 2,400
206 =4l 11,000 10,500 500
01 2 11,000 10,500 500
Oolztmel 2040 I} Z2H% 22| 5o U
Hz 7 7,000,000&x 14 7,000
OIITE 2 JEREENS 7
3,000,000 14 3,000
OARHI(EBBED| HEXYE)
1,000,000 =14 1,000
301 LB F 1,200 1,200
14 JIEt2 43 1,200 1,200
ORI I 2teld| 100,000& *12& 1,200
ARSI CHZZ X BZHA 327,334 504,900 A177,566
A 2222 327,334 504,900 A177,566
101 eI t| 128,000 111,600 16,400
M IIZtH22SE 128,000 111,600 16,400
OBBX HEIIFY LB IR
190,000 *6 2 x5 H *43] 22,800
OFTIEY U ST o1y
190, 0003 6 x5 H 63| 34,200
ONMZ 2 A=Yl o9
100, 0003 x5 *20H +53] 50,000
OB4+YE 2 MK 2Ry
100,000 x72L *15H+23| 21,000
201 L2 | 124,834 138,300 A13,466
01 At 22|l 27,940 26,360 1,580
O3==t&E4a &l +¢
500,000& =123 6,000
OAMEN HRFE = 2|
2,000,000& 14 2,000
OFAL2ZH| 2,000,000 14 2,000
Qt24== 10,0002 x6 2+ 12& 720
OArEDH Qo )| digs
55,0003 *12& 660
ONEZYE UXR(ELEH S)
600, 0003 *23] 1,200
ORCIZHIANAE K= =82
385,000 123 4,620
O 60,000 119! 7,140
OaED|etE2e| 29| 300,0002x12& 3,600
02 324l 96,84 111,940 A15,046
OAS 22X &0
2,910,000&x12& 34,920

- 651 -




M AEA

H A

= 1
IE: MEIHERENY AS
i K

o AMCCHRIZX| BN (SHol: )
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OAtE 22X &ot=E 2=
300,000& =123 3,600
OAIEEHl SXBI(SSHEDIQ 43 JIHE
gl S) 10,000,000« 1 10,000
Ost&a ANE7XES
2,000,000& 14 2,000
OoMgDIEsE M S5 +2
702 *32001« 12& 3,034
OREYs = 45,0003 128 540
OAMEN =2 Ald K12t
3,000,000 14 3,000
OMEU2ZXU E2AE RRE=
1,000,000& 14 1,000
ONel0I=0IAlE KXl
2,000,000 =14 2,000
OAS 22X s X222l
10,000,000 1 10,000
OZ5s&a 29 A= 300,000& »62! 1,800
O&IIAIE SR 5,000,000 14 5,000
OAEH == KRXI2tal
15,000,000« 1 15,000
ORs ¢ dxey 2
5,000,000&x 14 5,000
206 =8l 26,500 40,000 213,500
01 M=l 26,500 40,000 A 13,500
OBAE FH4 2 5,000, 00024141 5,000
O=s & HI2(g8H]) 72
10,000,000« 1 10,000
ODAZA 2AH 23 L Mt
5,000,000&x 14 5,000
OYBEHE 25 PY(H0I S)
5,000,000 *13] 5,000
OXMII€d] & BEMHE 7L
1,500,000 =14 1,500
401 Al HILS0HY| 27,000 200,000 A173,000
01 Al&HI 27,000 200,000 A173,000
OAMSO =3t E(EXHFY B2 Tl
15,000,000 & * 14! 15,000
OArEH LY ot E4&Y
12,000,000 «1 12,000
405 KHHE S| 21,000 15,000 6,000
01 XML =EF S| 21,000 15,000 6,000
O&EIIXH(1EEH )R
21,000,000 *1CH 21,000
HE2HZHI(AIEAIEA) 31,084 0 31,084
[=2Zdl 31,084 0 31,084
ANEAS A D123 31,084 0 31,084

- 652 -




A AEAMH A
B HHSOAH|(ALAILA)
&t JI=Z (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 11,664 11,664
01 At2teltl 11,664 11,664
OAte2teltl 8,174
OAIZAIZ A HRFE SEH 3,490
202 04| 13,440 13,440
01 2K 13,440 13,440
O=U08I 100,000& x 122 x14H+0.8 13,440
203 2R =L 5,980 5,980
02 SRItAA =] 480 480
Ot 20| 480,000& 1 480
03 A=A RN 2,500 2,500
OAEAIE A AP
2,500,000& %1 2,500
04 PAE2EERFAH 3,000 3,000
ORMEZE =4 3,000,000& %1 3,000

_653_




